EARAROBREBRT —5 XN—ZXBISH—F

2023118188 (£) 5SEIERR5H

LR R 2%S G2 USR2% (ER) (5% &5 EEEE R
[#~&%] 1 7& 38,000,000 §  23&:15,000,000 33&:9,500,000 43 :5,700,000 3 5 7 :3,800,000 F
B % B FrE R/ I HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
3 5 o2 | J. BELAS 1:46.5 333 349|959 | 4 | 520 |EHE ERH)
117171¥2b39R 56.0 (=) () | B FrOvbIr—Li
RE-UR B TIW—AVTSyh =YV Ty —I
5 NI » 2 | EREH 1:46.8 2-2-2  [35.6| 93.0 | 8 | 474 |EPi— ()
20111 22Ny I—=5)b e 5.0 a 172 2 | @ GI1L—y>7
RiFXF B:YNSZF (B) B&I1—-RL—yavEEI 7
o o~ t 2 | #LEsS 1:46.8 4-4-4 347|927 | 2 494 | BRIREEEE (3RR)
3y 3|77 —Jzvhk g 56.0 \F) 10 | ®) FrOvbIr—A
RIN=VITS4 B:h—Ibe—k (B HEI-RL—ryavEEI >
o N N ek 2 -10- aBHRN ER)
4l5l5 | vavrysrys # 2 | B8 (11.417/.4(; 10-10-9 |33.9) 90.3 | 3 5(3;) BER
R:FRXF B:TUFPFRTAH #HET7—L
_ N HALELTE . 7= BOEN (FR)
5N 4 | SATILND v "2 1(/\‘;? AN Rl Rl I (g; BE=%F
RIIET7RA7 BE—ZAT3Y FrvIEFIRT 77—
2 ~) = 2 | T. X—AYR 1:47.0 7-7-7 343|904 | 7 | 488 |BEEHENT ER)
oMl 6| HATXYT e 56.0 @) #8) @) DyF—L—yvT
R:RoSAYF B:221—IAHOIVR J=YUTr—A
S, a4~ )0~ Pl&EX : -5~ RREE 8
29l | vrurtye—o 2 | FR 1(74{:; 555 |34.8]89.6 | 5 (4330) %uﬁé—( )
RiFRF BAEUTILSAT #HBIT7—L
S—_— 2 | C.bX=)b 1:47.7 999 |34.6| 8.2 | 1 | 486 |FEERX A
8l8l9| Z#IZ=—Z= # 56.0 ) *2) (ﬁ?ﬂ)?—b—yyd
RIIET7RA7 B:UF—F =YV Tr—Ih
3 2 | JeRR— 1:47.9 5-5-6 | 35.4| 81.4 | 9 | 484 |MFFE RN
E! 2| =W FTIaA # 56.0 a 1/4) ) (ﬁ;?_b“‘/j‘—“—b—yyd‘
R:Constitution B:<w—2R J—YUTr—Ah
= i 2 | SHEM 1:48.0 1-1-1 | 37.3| 82.2 | 10 | 466 |EBSEHE CEH)
108 10| 7 UARILIL 5.0 b ) | BRELF
SRTFIWTAY BEIL /=YY I7—1
[ IR N
Ehty 47.4-35.8
NOYIA L | 12.3-11.2-11.8-12.0-11.8-11.6-11.7-11.7-12.4
@ 11— —&@BIEf:I
13—F—
Aal=zr= 10-1,7,3(2,8) (4,6)9-5
30—F+— 10-1,7-3-(2,8)-(6,4)9,5
4J—F— 10-1-7-3,8.2,6,4(5.,9)
@ IhRE
B B 7 580 | | 91 K 1-7 2,400H & 1-7 4,690 38 1-3-7 12,760M
5 B 7 190F4 3-7 500 5= 1-7 9,420 s 7-1-3 83,770M
1 790F9 1-3 2,170H4 5 2 7-1 14,1009
3 1701

ABIC OV TRUTEREERRODDZE. THRIIZEL.




